
Here is a Home Assignment for Class V on the topics "Numbers up to 90,99,99,999" and "Operations on 

Large Numbers" – with a good mix of understanding, application, and calculation-based questions. 

Class V – Home Assignment MATH 

Chapter: Numbers up to 90,99,99,999 & Operations on Large Numbers 

--- 

A. Fill in the blanks (1–10): 

1. The number name of 56,07,432 is __________. 

2. 1 crore = __ lakhs. 

3. The successor of 89,99,999 is ______. 

4. The place value of 7 in 8,74,23,109 is ______. 

5. 90,99,99,999 is read as ____________. 

6. In Indian system, the commas are placed after every _____ digits from the right. 

7. 10 lakhs = _____ millions. 

8. The smallest 8-digit number is ______. 

9. The sum of the greatest 5-digit and the smallest 6-digit number is ____. 

10. Expanded form of 45,68,210 is _____________. 

--- 

B. Write the following in figures (11–15): 

 

11. Sixty-five lakh twenty-three thousand one hundred eight 

12. Forty crore seven lakh eighty-one 

13. Nine crore forty-five thousand 

14. Eighty lakh ninety-nine thousand 

15. Thirty-one crore six lakh seven hundred five 

--- 

C. Solve the following (Addition/Subtraction – 16–20): 

16. 54,27,108 + 43,96,712 

17. 80,00,000 + 9,99,999 

18. 1,00,00,000 – 75,46,321 

19. 9,00,00,000 – 7,85,67,432 

20. Subtract 6,54,78,345 from 7,00,00,000 

--- 

D. Multiplication & Division (21–30): 

21. Multiply: 4,35,210 × 6 

22. Multiply: 98,761 × 23 

23. Divide: 85,40,000 ÷ 1000 

24. Divide: 9,24,000 ÷ 12 

25. A box contains 12,345 pens. Find the number of pens in 45 such boxes. 

26. 45,67,812 × 10 = ____ 

27. 9,999 × 100 = _____ 

28. Divide 99,999 by 9 

29. If 1 TV costs ₹12,870, what is the cost of 8 TVs? 

30. A number is multiplied by 1000. How many zeroes will be added at the end? 

--- 

E. Word Problems (31–35): 

31. A stadium can hold 42,350 people. If there are 9 such stadiums, how many people can be 

accommodated in total? 



32. A factory produces 45,620 bulbs every day. How many bulbs will it produce in 25 days? 

33. A city has a population of 37,89,654. If 8,76,543 people migrate, what is the new population? 

34. A book costs ₹ 245. What is the total cost of 325 such books? 

35. A company made a profit of ₹ 27,86,940 last year and ₹ 32,58,705 this year. How much more profit 

was made this year? 

--- 

F. Compare the numbers using >, < or = (36–40): 

36. 6,78,90,123 __ 6,87,90,123 

37. 89,99,999 __ 90,00,000 

38. 2,45,67,890 __ 2,45,67,089 

39. 10,00,00,000 __ 1,00,00,000 

40. 9,99,99,999 __ 90,99,99,999 

--- 

G. Miscellaneous (41–45): 

41. Write the predecessor and successor of 79,99,999 

42. Write the number name for 70,00,00,070 

43. Write the smallest and greatest 7-digit number 

44. Find the sum of 50 lakh, 40 thousand, and 2 hundred 

45. Form the greatest and smallest 8-digit number using 3, 5, 0, 8, 2, 1, 6, 4 (without repeating) 

Science: 

Write Answers of following questions  byreading books:- 

1)State functions of the skeletal system . 

2) write working breathing systemin 10 lines 

3)Make riddles about the functions of sense organs(In Page #13 text book) 

4)Draw diagram of external ears of five animals also write their functions. 

5)Learn and write the key words of lesson 1 and 2 . 

6)Make models ofbreathing system and skeletal system . 

7)complete exercise of lesson 1 

 



 

ENGLISH: 
1.WRITE A PARAGRAPH ‘HOW YOU ARE GOING TO SPEND YOUR SUMMER VACATION. 

2.WRITE THE MEANING OF THE FOLLOWING WORDS 

1-CLAUSTROPHOBIA____________    2-PYROPHOBIA___________ 

3.-HYDROPHOBIA_______________    4-BIBLIOPHOBIA____________ 

5.-ANGLOPHOBIA_______________    6.-XENOPHOBIA_____________ 

3.IN UNIT 1 ‘GROWING UP’OF MY ENGLISH READER,WE HAVE READ MANY WORDS 

WHICH NAME THINGS THAT CAN BE COUNTED AND MANY THAT CANNOT BE 

COUNTED.SEARCH AND WRITE THE WORDS FROM THE BOOK AND ALSO CLASSIFY THE 

AS COUNTABLE OR UNCOUNTABLES.(ENGLISH PRACTICE BOOK PAGE-7) 

4.WRITE 10 DESIRE OF YOUR LIFE IN YOUR ENGLISH COPY. 

ICT: 

 



SOCIAL SCIENCE: 

 


